Tutorial 1-01-b

Question 1

Determine a differential equation relating the voltage () and the current /(1) for { = 0 for the
clectrical network given in Fig. 3-6. Assume the capacitor is uncharged at ¢ =10. the current i s

zero at =0, and the switch S closes at ¢ = ().
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Question 2

(a) Perform partial fraction expansion on:

T+ 25+ 2
F(s)= ———
s+ 35+ 2
(b) Find the Inverse Laplace Transform on:

1

Question 3
Find the Laplace Transform of  (a) d/dte* and

Question 4

(a) Find the initial value of €3 and

(b) Find the final value of X ¢ ")

Question 5

Find the solution x(¢) of the differential equation

(0) fle"TdT

E+3i+20=0, x(0)=a, £(0)=b

where a and b are constants.



